
Math 125D 2/14/24
Chapter 7:7

Cand 7.8 !)



DFEP #12: Wednesday, February 14th.

Use Simpson’s Rule with n = 6 to estimate the average value of f(x) =
p
x3 + 5 on

the interval [�1, 11].
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Ex) Use the trap. rule to estimate
Sin(xdx / n=5 subintervals

.So
Tn = (f(x) + 2f(x) +2f(x))+ - .. +2f(x - -1) + f(x))

d
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i=((y)+2xn(8) +25 (12) +bin(16) + sin(20)
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Simpson's Rule : What's better than connectingastlines
Use parabolas .
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Simpson's Rule : What's better than connecting righ lines! Use parabolas .

Ex) n
= 6 - must

be even to make trapezoids0
3 parabolas Pair up consec subint. draw parabolas through the 3 pts in-
men That
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Area under These 3 parabolas :
--

Aren= (f(x) + 4 f(x) + f(x) + - (xx2)+Yf(x) + f(xx) +
*(f(x) +4f(x) + f(x)

-(1) + x) + (x) +((x) +2x)
+(i) +!x)
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Simpson's Rule : Area is approximately (f(x.) + Yf(x,) +2f(x) +4f(x) + - ..
+ Yf(x

,-
) +f(x))
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error bound :
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Ca7. 8 Improper Integrals
choh

*-
dx

"Improper Type I" integral : ⑲Y & is not a real number
,
so we can't plugin into

The antiderivative
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